b 21000000

ogoooboggd

1] A=(a;;) 0 nOOOOO0D0DO000R2300000A0 (4,5)00 ¢; 0000
0000000U00DADDOOD |A|lD00D0ODOOOOOOOOooO

i+ —2)

G-I - 1)l

(3) awzl—é” (4) aU:n—(n—z)(SU

()a;=i+j—1 (2) a;; = oooooo

2] nODO0D0OD0 ADDOOOD E+A000000000(E-A)(E+A4)~t000
00000000000

3] A=(;) 0000000000
(1)AD (4,j)) 000 A; 00000000
(2)A0D0000O0 adj ADDDOOOOOO
(3)ADDDD0OD0adj ADDODO (adj A) ' =adj (A")DODOODOOOO
(4) ADDDDOOOOad]j (adj A) = |[A*2A000000000

-1 1 1 1
1 -1 1 1
4] OO O00oo0ooooO
11 -1 1
1 1 1 -1
ar + Yy — z = a—2
5] oo1o0000 T 4+ ay + z = 3 00000000e0000

- + Yy + az = da+2
oogd



b 21000000

ogoooboggd

1 —1 3 4
REOOODOO a =] -2 |, ax= 4 |,as=| =2 |, b=| 0
0 2 —2 2

0oooo
(1) {ai,a2,a;} 0 R* 00000000000,
(2)b0 a,as,a;0 10000000
(3)
(4)

0 a oooo

Gram-Schmidt 000000000 {a1,as,a;) 00 R*O0000000000
b0 splai,a) 000O00OO00O0

1 1 a a-—3
A= 1 a 1 2a—4 0000000000 f4:R*—ROO00O0O,
a 1 a —4a+2

Imfs, Kerf, OOOOOOO0ODOO.

-3 -2 —2
3] A=| 4 3 2 | 000000000000
8 4 5

() ADD0DODOO0O000O0
(2) ADDDDOO00O0OD POOODADOOOOOO

ZL’l, == —35(]1 — 2%2 - 21’3

(3) 0000000 { 2 = 421 + 31, + 20 000000000
3 =  8ry + 4xy + buxs



